

D06404
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 x 90,
29 LENGTHS @ 3.0 METRE = 87 L/M

2



D06346
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 x 90,
32 LENGTHS @ 3.6 METRE = 115 L/M

3



D06343
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 3.6 METRE = 115 L/M

4



D06361
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
24 LENGTHS @ 3.6 METRE = 86 L/M

5



D06335
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 3.6 METRE = 115 L/M

6



D06344
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 3.6 METRE = 115 L/M

7



D06345
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 3.6 METRE = 115 L/M

8



D06446
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
24 LENGTHS @ 3.6 METRE = 86 L/M



D06440
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
22 LENGTHS @ 3.6 METRE = 79 L/M



D06441
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 3.6 METRE = 115 L/M

11



D06438
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
29 LENGTHS @ 3.0 METRE = 87 L/M

12



D06349
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 3.6 METRE = 115 L/M

13



D06400 PACK OF CCA TREATED PINE TIMBER POSTS MERCH GRADE 90 X 90, 8 LENGTHS @ 3.6 METRE = 29 L/M

14



D06401
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
5 LENGTHS @ 4.2 METRE = 21 L/M

15



D06216
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 1.8 METRE = 115 L/M

16



D06278
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 2.7 METRE = 86 L/M

17



D06221
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
15 LENGTHS @ 3.6 METRE = 54 L/M



D06222
PACK OF CCA TREATED PINE TIMBER POSTS
MERCH GRADE 90 X 90,
32 LENGTHS @ 3.6 METRE = 115 L/M



W14528
PACK OF CCA TREATED PINE TIMBER MERCH GRADE
90 X 45,
28 LENGTHS @ 2.4 METRE = 67 L/M

20



WD0202
PACK OF CCA TREATED PINE TIMBER MERCH GRADE
140 X 45,
20 LENGTHS @ 3.0 METRE = 60 L/M

21



X3368
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45,
19 LENGTHS @ 3.0 METRE = 57 L/M

22



X3466
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45,
25 LENGTHS @ 3.0 METRE = 75 L/M

23



WD0654
PACK OF CCA TREATED PINE TIMBER MERCH GRADE
140 X 45,
12 LENGTHS @ 3.0 METRE = 36 L/M

24



X2797
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45,
15 LENGTHS @ 3.0 METRE = 45 L/M

25



WD0625
PACK OF CCA TREATED PINE TIMBER MERCH GRADE
140 X 45,
19 LENGTHS @ 3.0 METRE = 57 L/M

26



WD0620 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45, 20 LENGTHS @ 3.0 METRE = 60 L/M



X3439
PACK OF CCA TREATED PINE TIMBER MERCH GRADE
70 X 35,
85 LENGTHS,16/2.4,1/3.0,8/3.6,41/4.2,1/4.8,
1/5.4,1/6.0 = 258 L/M



6234920 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35, 68 LENGTHS,1/2.4,3/3.0,23/3.6,41/4.2 = 266 L/M

29



6229901 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45, 15 LENGTHS, 4/3.0.6/3.6,5/4.2 = 55 L/M

30



WD0657
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45,
20 LENGTHS @ 3.0 METRE = 60 L/M

31



X3360 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45, 69 LENGTHS,58/3.0,1/4.2,1/4.8 = 183 L/M

32



X3261
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45,
38 LENGTHS @ 3.0 METRE = 114 L/M

33



X3449
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45,
40 LENGTHS @ 3.0 METRE = 120 L/M

34



6236147 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45, 50 LENGTHS, 2/3.0,20/3.6,28/4.2 = 196 L/M

35



6226502
PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm
120 LENGTHS @ 4.8 = 576 L/M



D06209 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 68 LENGTHS @ 5.4 = 367 L/M





38



D06211
PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm
65 LENGTHS @ 6.0 = 390 L/M



6225578
PACK OF CCA TREATED PINE SCREENING MERCH GRADE
90 x 22mm 60 LENGTHS @ 3.6 = 360 L/M

(WAS LOT 55 LAST SALE)

40



6232967
PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm
120 LENGTHS @ 4.8 = 576 L/M

41



6222187 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ 4.8 = 576 L/M

42



6233021 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 64 LENGTHS @ 5.4 = 346 L/M

43



D06213 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ 6.0 = 720 L/M

44



6235518 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 90 X 35, 112 LENGTHS, 18/4.8,17/5.4,77/6.0 = 640 L/M



6234913 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 70 X 35, 94 LENGTHS, 2/3.0,21/4.8,14/5.4,57/6.0 = 524



6235513 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 90 X 35, 112 LENGTHS, 20/4.8,18/5.4,74/6.0 = 637 L/M

47



6235573
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45,
60 LENGTHS, 12/4.8,9/5.4,39/6.0 = 440 L/M

48



6235036
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 35, 72 LENGTHS, 12/3.0,23/3.6,37/4.2 = 274 L/M

49



6235037 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 35, 72 LENGTHS,17/4.8,55/5.4 = 378 L/M

50



6234370 PACK OF TREATED PINE TIMBER MERCH GRADE 90 X 45 95 LENGTHS @ 6.0 = 570 L/M

51



6218791
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45,
31 LENGTHS @4.8 = 149 L/M

52



6215831 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45, 36 LENGTHS, 3/4.8,2/5.4,31/6.0 = 211 L/M

53



6217635 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45, 36 LENGTHS, 15/4.8,1/5.4,20/6.0 = 197 L/M



6215820 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45, 36 LENGTHS, 29/4.8,7/6.0 = 181 L/M



6217618
PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 45
36 LENGTHS, 7/4.8,1/5.4,28/6.0 = 207 L/M

56



X2327
PACK OF CCA TREATED PINE TIMBER MERCH GRADE
120 X 45,
30 LENGTHS @ 4.8 = 144 L/M

57



6215849
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45,
26 LENGTHS, 2/3.0,9/3.6,13/4.2 = 93 L/M

58



6211476
PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45,
36 LENGTHS, 2/2.4,1/3.0,9/3.6,24/4.2 = 141 L/M

59



6212097 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 X 45, 36 LENGTHS, 16/3.6,20/4.2 = 141

60



6218767 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 45 72 LENGTHS, 1/2.4,5/3.0,34/3.6,33/4.2 = 275 L/M

61



71269A
PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm
44 LENGTHS @ 4.8 = 211 L/M

62



6222425
PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm
96 LENGTHS, 11/4.8,2/5.4,83/6.0 = 562 L/M



X3380
PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45
60 LENGTHS @ 4.2 = 252 L/M



6234383 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45 96 LENGTHS,18/4.8,21/5.4/57/6.0 = 542 L/M

65



6233083
PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm
96 LENGTHS, 18/4.8,21/5.4,57/6.0 = 542 L/M

66



6233076
PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm
96 LENGTHS, 6/3.0,37/3.6,53/4.2 = 374 L/M

67



6222441
PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm
96 LENGTHS, 11/4.8,8/5.4,77/6.0 = 558 L/M

68



6235589 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45, 38 LENGTHS @ 4.8 = 182 L/M

69



6235578 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45, 60 LENGTHS @ 4.8 = 288 L/M



6235190 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 140 X 45, 60 LENGTHS, 35/4.8,25/6.0 =318 L/M